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No supplementary answer-book will be given to any candidate. Hence the candidates should write the
answers precisely in the main answer-book only.
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Answers of short answer type questions must be given in sequential order. Similarly all the parts of one
question of descriptive part should be answered at one place in the answer-book. '
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Write your roll number on question paper before answering of the questions.
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: Question paper consists of Two parts A, and B.
Ue 9 H &) AT ¥, 3R g 8|
PART -A:20 Marks 91T — 31 : 20 3%

Part A is compulsory having 10 very short answer-type question (with a limit of 20 words) of two marks each.
The first question is based on knowledge, understanding and applications of the topics/text covered in the
syllabus.

AT & H 2T 3fF B 10 magﬁﬂum(zomﬁaﬁ?ﬁma%m)eﬁmé%lqwmmﬁmﬁa
fawdt / re o w1, wwet 3R SeurT uR SR R |

PART - B: 60 Marks 91 — € : 60 3$

Part B of the of the question paper is divided into four unitg comprising question number 2-5. There is one
descriptive question from each unit with internal choice. Each question will carry 15 marks.
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PART - A/ ATT — & 2x10=2¢
J: M What are electrophiles? Select electrophiles from the following reagents,
NH,, AICl, H,0, ZnCl,, BF,, CH,cocH, H,0% 50, CO,
mﬁﬁﬁmmmﬁ?ﬁqﬁﬂmﬁﬁﬁml
H,, AICl, H,0, ZnCl,, BF,, CH,CcocH,, H,0% 50, CO,
@/menge the following carbocatigy, in order of increasing stability.
(CH,)-C°,CH,=CH", CH,=CH_ CH, ® (CH,),CH®
1 Faider o) e & & 5 3 cyaRerd HIRTY |
(CH,)-C*,CH,=CH’, CH,=CH ~CH,%, (CH,),CH®
(53/ Write [UPAC names of the followmgs with E/Z nomenclature.
ﬁm%mmcwwmzmmaﬁml

HC _— CH,C1
@ C=¢@ .
Hic Sa
-3¢ __Br
(i) .. - W .
\_9,)/ What is recemisation? Explain.
AR 7 27 ey |
ﬂ What is Huckle's (4n+2) mrule? Explain,
BT D1 forgm ar 87 W?nsﬁ |
(f) Whatis tropilium salt?
SraTsferam sy g &2
‘9)( What is Birch reduction?
fa sroerr ar &7

\QX CH, group is o/p directing, explain.
LLEIED CH, 948 o/pﬁ'éfﬁ &)
&X What do you mean by moleculer; ty and order of reaction?
fereit sifafiar o1 sropeivaen sic DI gy e 17
‘(j)/ Write the unit of first order rate Constan
W pife ol sffebar & < Fiyerias o goprs farray |
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PART - B/ %y _ o
2. Write shortnotes on. (any three) 3x5=15

iRt ¥ fewoh) iR (618 )

\(}Y Carbanions

BT

9/ Free radical
g el

(c) NiItrene
LIS
(d) Benzyne
irvrrng—rr ~ |
OR/ JeraT ‘
(a) Discuss briefly following methods for the determination of reaction mechanism. 3x5=15
sifaferaret @1 frafafdy s v & ford Py R} o e % qof a1 |
() Productanalysis.
ScTE fageryor
(ii) Determination of the presence of intermediate
HeAA! O SRR & ygam=
(iii)Kinetic studies.
TMIIPIT e
3. (a) Explainthe following terms with suitable example. 3x3
=1 wfeharratt &1 SR Sarexor S wHsS |
Inversion, Retantion and Recemization.
faame 1 yefa, e ek Yefdiswer .
(b) Write ITUPAC name and E/Z configuration of the following melecule; = 3x2=6
fr=iferRae ey & IUPAC A < 8Y S51& E/Z fa=gra faiked) |
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CH CH. _H GH, SaaaH
[l H H/C C\
CH
HSC/ > 2 T COOH o

2

@—

OR/ Jryary

\}z) What are conformations? Explain different conformations of n-butane with the help of Newmanilos
projection formula.
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\9 What is difference between configuration and conformation.
Y R vd ety geragd § o TS |
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4. (a) Define Aromaticity in detail.
CRIAfEHAr e @Y AT B |

it
(b) Explain the structure of benzene on he pasis of F€SONA0CE and molecular orbital theory.
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10

oR/aIql
(a)” Explain why —NO, group is deactivating and n-directing but -NH, group is activating with ortho an;i
paradirecting.
TS & -NO, g Fifra sep qer m ~(eT) a2, srafes ~NH, §9g #fhavierd |fed
(0-) 3meif T (P-) T Freary &
yDiscuss the mechanism of the following reactions:- -
o= rfAfeamait bt Branfafy & gy o) —
(i) Friedal - Craft's Acylation.
WISel SHTICH QRTeliawor
(i1) Sulphonation
HABIHIEROT
5. (a) What you meant by order of reaction? Describe suitable method by which order of reaction can be
-~ determined. 10
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AFirst order reaction completes 40% within 50 minutes. Calculate its rate cqnstant.
(log 5=0.6990) (log3=0.4771)
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OR/ 3eqar
Explain the following (any three) ‘ 5x3=15

o= &) TEEd (@1 9)

(a) Pseudo orderreaction.

B Bife o1 ffsar
(b) Halflife period for first orderreaction
" Hife o1 AAHAT & forg apf AP
(c) Collision theory
TR Rigr
(d) Activation energy
- Afshgor Ff
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